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_ NVC MATH 3 — RELEASED ITEMS

Let Ax) = 14x3 + 28x2 — 46x and g(x) = 2x + 7. Which is the solution set to the

Japhn — |y =(3)(1x" + 285> oy
2= 2X+7T

equation %f(x) = g(x)?

A {3,0,1}
{-3,°1,2}
{-2,1,3>
{1, 5,11}

A Look fay poindS of inttrskchions

B B WALS gwer Chn(es

A function is shown below. X=-% ) Arec pm,;g‘“ g DOtV
x4+ 2x forx <73 Y=L ) v
f(x) = 2(%) for 3<x<4

2X =5 for x > 4 ‘
X7 -

What is the value of the expression f(*3) + 2f("1) - f(4)?
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3 The diameter of a circle is 8 centimeters. A central angle of the circle intercepts an
arc of 12 centimeters. What is the radian measure of the angle? -
3 .
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4 To completely cover a spherical ball, a ball company uses a total area of
36 square inches of material. What is the maximum volume the ball can have?
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(Note: Surface area of a sphere = 4nr? Volume of a sphere = —nr ) St h"’ e
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5 A farmer wants to buy between 90 and 100 acres of land. {;001 ‘j HED0 ‘H‘

\6\( %g& . Ia-lr?d|s3gge;aef§§dwllré: rectgngullar pie;}e{:of land that is 1,500 yards long
Q}jl)‘;'ﬁ@ . The piece of land is bggg £o|ﬁ as joie ctmplete unit for $87,000.
If the farmer does not want to spend more tt@@acre, does the land meet
all of his requirements? (1 acre = 43,560 ft?)
A Yes, the amount of land satisfies his needs, and the price is low enough.
B No, the price is low enough, but there is too much land.
® No, the price is low enough, but there is not enérugh land.
@ No, the amount of land satisfies what he'needé, but the price is too high.
6 A reporter wants to know the percentage o_f”voters in the state who support

building a new highway. What is the reporter’s population?
A the number of people who live in the state
B the people who were interviewed in the state

C all voters over 25 years old in the state

@ all eligible voters in the state
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7 The figure below shows concentric circles, both centered at O.

A+9 = P

. Chord XY is tangent to the smaller circle.
. The radius of the larger circle is 15 cm.

. The radius of the smaller circle is 12 cm.

What is the length of chord XY?

A 27 cm
B 24 cm
@ 18 cm
D 10 cm
8 What is the approximate length of the arc subtended by an angle of 4n radians

e 3

on a circle with a radius of 6.00 meters?

(ﬁ‘,,&? e »
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Q= al Lﬂ*

J s=a5,15

N

A 12.57 meters , G

B 14.14 meters

@ 25.13 meters

D 28.27 meters
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9  What is the solution to the equation 2 =3 = 8+ 15,
x-1  4x+5°
A 14

: Bx=2) 4y 46) = (x-YBxr)

B T14 |
9 3)@ 10X 2y G =

Y= \"&/5
10  Which expression is equivalent to pec +X4“;7‘_A 51 %:-)(2:58;5+ 15 when x is

restricted so that the expressions are defined?
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11 Which function has a point of discontinuity at x = 3 when graphed?

" f(x)={3x+1forx<3

x“+1 for x > C}\Q%& fi"}?y lf tt(i km\ﬂ t&

f = 3+ 2 .
° 6 =g -3+ - > Continusuds SO

_X-=-3 ) ; YV 2

C =5 77777 hapa vedur (2 X=3
fix) = X+ 2

@ 9 X*2'9

12 Joshua is constructing a triangle with a circle inscribed in it. Each vertex of the

triangle will have a line passing through it bisecting the angle. No matter where he
places the third vertex, the following conditions will be true:

. ‘!,}'4
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° Each line will always bisect its corresponding vertex angle.
. The three lines will always intersect at the center of the circle.
. The circle will always be inscribed in the triangle.

Ly W&o

Which type of center exists where the three lines intersect?

A centroid = fuediouns Wk~

' A ek
B circumcenter — pPUPY ﬂméwuw;g

C midpoint —  pnidd| t:,;uw‘ V
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The function y = a(1.20)t models the value of an investment after t years. Based
on the function, what is the approximate monthly interest rate?

A 8.9%

&
B  8.3% \\j’ Q{ H(\)
(c) 1 3»— a (1 +020)

D 1.0%
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NC Math 3
RELEASED Items!
2017-2018
Answer Key
Item Number Type? Key Standard
1 MC B A-REI.11
2 MC D F-IF.2
3 MC B ;F:-TF.l
4 MC c G-MD.3
5 MC ) D G-MG.1
6 MC ‘D S-1C.1
7 MC c G-C.2
8 MC C F-TF.1
9 Me D A-REL2
10 MC A A-APR.7b
11 MC D F-IF.7
12 MC D G-C0.10
13 MC C A-SSE.3
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This is the end of the NC Math 3 Released Items.

Directions:

1. Look back over your answers for the test questions.

2. Make sure all your answers are entered on the answer sheet. Only what is
entered on your answer sheet will be scored.

3. Put all of your papers inside your test book and close the test book.
4. Place your calculator on top of the test book.

5. Stay quietly in your seat until your teacher""tﬁ:elrls' ydu that testing is
finished. - o

6. Remember, teachers are not allowed tb’ diquss items from the test with
you, and you are not allowed to di’s_k:'urs_s:\}vith others any of the test
questions or information contained within the test.




